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QUESTION 1

A user has created a Sandbox based on a cube view. The user wants to have the Sandbox data savedas the base

information.

What should the user do?

A. Save the View but click File > Save As.
B. Click the Save View button.

C. Recalculate the data then click Save.
D. Commit the data to the cube.

Correct Answer: D

QUESTION 2

Auser would like to create a view showing the top 10 sales by region. Which type of subset would the user use to

accomplish this?

A. Expression Base Subset

B. Static Subset

C. User Defined Subset

D. Filter-based Dynamic Subset

Correct Answer: D

QUESTION 3

Which three statements are correct about aliases? (Choose three.)

A. Aliases must be unique within the dimension.

B. Subset (user defined consolidation) cannot be the same name as an alias.
C. Aliases can be used for alternative languages.

D. There can only be one aliasper dimension.

E. Aliases must only contain non-numeric string characters.

Correct Answer: ABC

QUESTION 4
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In which tier of the IBM Cognos TM1 client-server architecture does the TM1 Administration Server reside?
A. Tier 2: Web Application Server

B. Tier 1: Web Client

C. Tier 4:Relational Store

D. Tier 3: Data

Correct Answer: D

QUESTION 5

How do you configure aTM1 Administration Server to run as a Windows service?
A. Usetmlsd.exe.

B. Usetmla.exe.

C. Use tm1 admsd.exe.

D. Edit the tmls.cfg file.

Correct Answer: C
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